
                                                                 Exercise sheet-6 

                                                                                           Date- 10.06.20 

1.One week has 7 days. How many days are in 8 weeks? 

2.There are 7 chocolates in each of 9 boxes. How many chocolates are there? 

3. In a classroom ,each group has 5 students. If there are 8 groups, how many students are there? 

                                                                                            Solution 

1. 

                        1 week has  7 days 

   Therefore    8 weeks have (7×8) days 

                                                   =56  days. 

Ans:56 days. 

 

2. 

                       1 box has   7 chocolate 

  Therefore  9 boxes have ( 7×9) chocolates 

                                              =63 chocolates. 

Ans: 63 chocolates. 

 

3. 

                    1 group has   5 students 

Therefore 8 groups have (5×8)students 

                                             =40 students. 

Ans:40 students.    

         

 

 


